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Question: 1

Database utilization for deadlock detection
A. DAG
B. RPC
C. WFG

D. DLC

Answer: C

Question: 2

Which option is the normal tenant creation process? 633
A. Add parent tenant
B. Adding a sub-tenant
C. Planning resource management

D. Binding roles and tenants

Answer:ABCD

Question: 3

In the query set operation, the intersection is
A. INTERSECT
B. MINUS
C. EXEPT

D. UNION

Answer: A

Question: 4

What indexes does the GaussDB 200 database support

A. Unique index



B. Expression Index
C. Multi-field index

D. Partial Index

Answer:ABCD

Question: 5

Which of the following statements about the GaussDB200 database is correct?
A. belongs to OLAT type database
B. belongs to OLAP type database
C. belongs to the MPP schema database

D. Database mainly used for online analytical processing

Answer: BCD

Question: 6

The main function of the execution engine is to parse the SQL query entered by the user. Generate execution
plan

A. TRUE

B. FALSE

Answer: B

Question: 7

The following syntax can be used to open the cursor
A. OPEN
B. START
C. OPEN FOR

D. BEGIN

Answer: AC




Question: 8

What other optimizations can be made to the audit function?
A. Visualization (web graphics, reports)
B. Security alarm
C. Deep Security Analysis

D. All of the above are correct

Answer: ABC

Question: 9

Which part of the overall installation process does the "planning data" belong to?
A. Preparation before installation
B. Software installation and deployment
C. Inspection after installation

D. System configuration

Answer: A

Question: 10

Which of the following components can the Stream operator be executed on?
A. CN
B. GTM
C. DN

D. OM

Answer: AC




